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DIPLOMA IN VALUE ADDED PRODUCTS 
-7t4 FROM FRUITS AND VEGETABLES (DVAPFV) 
(\I Term-End Examination 

December, 2015 

BPVI-004 : FOOD PROCESSING AND 
ENGINEERING-I 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt any five questions. All questions carry equal 

marks. 

	

1. 	(a) Define the following : 	 1x5=5 
(i) TSS 
(ii) Enzyme 
(iii) Clarification 
(iv) Blanching 
(v) Sweating 

(b) Enlist material handling conveyors and 
explain any two of them. 	 1+2+2=5 

	

2. 	(a) Define EMC and explain its relevance to 
food preservation. 	 1+4=5 

(b) Enlist the various components of a vapour 	5 
compression refrigeration system along with 
their functions. 

	

3. 	(a) Enlist the methods of size reduction and 	5 
explain any two of them. 

(b) Why storage of fruits and vegetables are 	5 
required ? 
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4. 	(a) Expand the following abbreviations : 	1x5=5 
(i) FPO 
(ii) ISO 
(iii) GHP 
(iv) GMP 
(v) HACCP 

(b) Define down time. What are the main 
reasons for down time ? 	 1+4=5 

5. 	(a) Explain the role of packaging of agricultural 	5 
and food materials. 

(b) Define a pallet. What are the advantages 	5 
of palletisation ? 

6. 	(a) Enlist the methods of preservation of fruit 
juices and explain any two of them. 	2+3=5 

(b) What are indirect and direct contact 	5 
freezing systems ? 

7. 	(a) What are the problems in fruit jam 	5 
preparation ? And how to take care of 
them ? 

(b) How will you assure worker's safety in a 	5 
fruit and vegetable processing plant ? 

8. 	(a) Describe the causes of spoilage of fruits and 	5 
vegetable pickle in brief. 

(b) What is the water hardness ? Explain 
disadvantages of hard water in fruit 
processing industry. 21/2+21/2=5 

BPVI-004 	 2 



I Al..**.3Trt-oo4  

4'41 	I of 	 Arti oaf drti I 	fstmliii 

t.A17.-0.76.* 

1:fftff 

1.444;1 1  2015 

***alit-004 : STET wit.critui 3t 31'131~4 

TIrgi: 2 72- 	 31fiwdq afw : 50 

: 	rik 301).  d rt< 	 Ftsftsoli*3fwgg-m - gl 

	

1. 	(a) tift4TTP17 W A7 : 	 1x5=5 

(i) Z174.74 . 

(ii) 

k-a-cre.9-1 

(iv) fdqui chtril 

(v) diu NA( (7:5 -q-ff) 

(b) 	Tt-4TTA 	tr--4 

tT auk tlf-A-R I 	 1+2+2=5 

	

2. 	(a) t7 1:1.A. 	trftiTTFER w1i77 afr{ 	 LtittWii 

	

Tf4ti T:1—*-1' 5114Pichif 	auk rfA7 I 1+4=5 

(b) 	-rIsqltft -517ft-d7 -creu t fegq 	 5 

5t-r-41 Tri-o Vr-gz 

 

R I 

	

3. 	(a) 3TwR 	Zui 	fdfiPg ""f 11Q44 11--A7 	5 

at1T *1414 ft- 1 t auI.i 4{7V1 

(b) 41(4 31 Tir-.4 	 cbkit creil 31 -P7w 	5 

t? 
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4. 	(a) F-H-1 Fortg 	cr t 	fffrtg7 : 	 1x5=5 
(i) 	1-11.7113-1).. 

(iv) .71:r.11ft. 

(v) t7r ( 
(b) 	rIM 4roitsra-  tr--47 of 

t roma-LT chRuiwt? 	 1+4=5 

5. 	(a) TOT 3th T 	;la • (4.) Thkr--At 
	

5 
fir auk tlf--A7 

(b) 	tlAZ 	LirtiTTFEIff ""lf--A.7 I qt..Vich(ui 	71.94 
	

5 
? 

6. (a) `" 	t LIF( TuT Fart qtqz -4177 
3117 	 wr auk 	L l 	2+3=5 

(b) 	311;17R-T 31.17 	 Tftr* r 	4-11chtui Lhardai qz1T 	5 

? 

7. 	(a) 	,pe. \;14-1 f-infur time fll-R-qR•azrrt? 9Tri:R;ErrA 	5 
trf9---a-rturt4TfiTat? 

(b) 	410 1a 	Tur 	ch1 4-1 1 114 	Tur 	5 
3ITcf 	49f q7 	? 

8. 	(a) th--  3117 4t)glq.1 	01; 31-4R 	(5k141 	 • 	5 
trt-cff 	Tr.)-cr 4 a 	 

(b) 	-W-dicdT SIT t ? "UM TITIF{TrT 3 -t1)7T 14 
	 ch Trr-TO 	till .-1-F—A-R I 	21/2+21/2=5 
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